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Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.
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Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instructions :
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All questions are compulsory.
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(i) 797 FH% 1 § 20 7% TG 597 8 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of

1 mark.
[ a5 9 ]
[ Objective Type Questions ]
1. HTML# ............... PEME TR 1
................ is the paragraph tag is HTML.
2. HTML# &9 ............... 2 1
(A) Y dfafea
(B) iUed R ¥
(C) @9 Gffeq w&t
(D) BIC R |

The tags in HTML are ................ .
(A) Case-sensitive

(B) In upper case

(C) Not Case-sensitive

(D) In lower case
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(A)
(B)

(€)

5. CH+ 8 oo AR H ga SffaRex off Fea B
@) >> B <<
< > (D) <
T CHty e, operator is also known as insertion operator.
A) >> B) <<
) > D) <

(3) 5607/(Set : B)
3. W F IR X H Gol TAH oo 2l

int exam [10];
int exam;
exam {20};

array exam [15];

........... is the correct way of declaring an array.

int exam [10];
int exam;
exam {20};

array exam [15];
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LIFO
LILO

LIFO
LILO

2
4

2

(4)
................ Y Reliege™ e 2
Aa) :: (B)
(S (D)
.................. is scope resolution operator.
Aa) :: (B)
(S (D)
. OOP's &l T & ................ 2l
Full form of OOP's is .....ccevvennnen.. .
D RB e, Frem W emeia &
(A) FIFO (B)
(C) PILO (D)
Stack is based on .............. principle.
(A) FIFO (B)
(C) PILO (D)
REH o, SR B Bl
(A) 1 (B)
€ 3 (D)
There are ........ccevnvennen. operations in stack.
(A) 1 (B)
€ 3 (D)

4
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10. T R9H INF H 81, R 366 G 89 H ..o I B 1

A relation is in INF, if all underlying domains of relation contain ...................
values.

11, SEHARAMT v, B HH HIA 2 1

(D) STeI
Normalization minimizes ............ .
(A) Attributes
(B) Tuples
(C) Redundancy
(D) Updation
12, e, SQL & &< 78 2l 1
(A) DCL (B) DBL
(C) DDL (D) DML

............... is not a component of SQL.

(A) DCL (B) DBL
(C) DDL (D) DML
13. WWW &l I &7 .....cocoe Bl 1

Full form of WWW is .............. .
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14. WAN&H Q0 &Y ..o Bl 1
Full form of WAN is .............. .

15. FTP & T &Y ....cooeeeee 3l 1
Full form of FTP is .............. .

16. & A ot Aeas # oFiga (SFeliEss) g & U%4 & [Q S9/ T &, @

............... Hed Bl 1
A) fos (B) ded
(C) IR (D) WIK
A system designed to prevent unauthorized access to a network is
called .............. .
(A) Bridge (B) Gateway
(C) Firewall (D) Router
17. F<C IEEH H IP B TATT oo Bl 1
(A) FEE HaEet
(B) FeIe T
(C) Fee UMK
(D) FTIT FHER

In Internet terminology, IP means .............. .
(A) Internet Provider

(B) Internet Protocol

(C) Internet Procedure

(D) Internet Processor

5607/(Set : B)/ Il



18. HTML & J% &7 ................ Bl
Full form of HTML is .............. .

19. %dl 39 99 & folT HTML 39 & 98l &4

(A)
(B)
(C)
(D)

20. ......

g8, TEed, HTML, et
HTML, &, e@ed, &8
HTML, B8, <Zed, del
§fgl, HTML, 88, <ged

Head, Title, HTML, Body
HTML, Body, Title, Head
HTML, Head, Title, Body
Body, HTML, Head, Title

.......... A TRT H A BT B

<a> (B)
<br> (D)

............... tag makes the text bold.

<a> (B)
<br> (D)
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is the correct sequence of HTML tags for a webpage.

<b>

<bo>

<b>

<bo>

B)



